FCC ID: VBA-EE202T
Intertek |C: 7098A-EF202T

Tedt Data
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Intertek

FCC ID: VBA-EF202T

IC: 7098A-EF202T

1. Fundamental & Spurious Emission & Restrict band radiated emission
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Intertek

Restrict band

FCC ID: VBA-EF202T
IC: 7098A-EF202T
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Intertek

Horizontal

1000-5000 MHz

FCC ID: VBA-EF202T
IC: 7098A-EF202T
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FCC ID: VBA-EE202T
Intertek |C: 7098A-EF202T
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FCC ID: VBA-EE202T
Intertek |C: 7098A-EF202T

Restrict band
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Intertek

FCC ID: VBA-EF202T
IC: 7098A-EF202T

Vertical
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FCC ID: VBA-EE202T
Intertek |C: 7098A-EF202T

2. Deactivatingtime

® REW 100 kHz Delta 1 [T1 ]
VBW 300 kHz -45.72 4B
Ref 87 dBuv Att 10 dB SWT 10 = 500.000000 ms
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FCC ID: VBA-EE202T
Intertek |C: 7098A-EF202T

3. Emission bandwidth

® RBW 100 kHz Delta 1 [T1 |
WBW 300 kH=z 0.1¢ deB
Ref 87 dBpv Att 10 dB SWT 2.5 ms 466.000000000 kHz
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Intertek

4. Occupied bandwidth

®

EBW 10 kH=z
WBW 30 kH=z

FCC ID: VBA-EF202T

IC: 7098A-

EF202T

Marker 1 [T1 ]
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Ref 87 dBuv Att 10 dB SWT 10 ms 433.908000000 MHz
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FCC ID: VBA-EE202T
Intertek |C: 7098A-EF202T

5. Duty Cycle

® REBW 100 kHz Delta 1 [T1 ]
VEW 300 kHz 0.12 dB

Ref 87 dBuv Att 10 4B SWT 130 ms 41.340000 ms
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Date: 20.FER.2014 09:03:25
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FCC ID: VBA-EF202T

Intertek |C: 7098A-EF202T

® RBW 100 kHz ©Delta 1 [Tl ]
VBW 300 kH=z -0.24 dB
Ref 87 dBpv Attt 10 dB SWT 10 ms 240.000000 s
Marker| 1 [T1
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FCC ID: VBA-EE202T
Intertek |C: 7098A-EF202T

® EBW 100 kHz Delta 1 [T1 ]
VEW 300 kHz -0.19 dB

Ref 87 d4dBuv Att 10 dB SWT 10 ms 860.000000 us

Marker| 1 [T1
71.14 dBuv
3.940000 ms
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EBW 100 kHz
WBW 300 kHz
Ref 87 dBuv Att 10 dB SWT 50 ms

FCC ID: VBA-EE202T
Intertek |C: 7098A-EF202T

. e I PR

F-10

Center 433.82 MHz 5 ms/

Date: 17.FEB.2014 14:45:33

All the keys were assessed and the test data with maximum duty cycle was listed above.
Theworst Duty cycle= (11*0.86+ 14*0.24) / 41.34 = 0.31
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